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L.old44 5,428,420| 5,090,054| 338,366
1A S g 7] ol <) 5,427,420| 5,089,404| 338,016
1. S S AAY T 5,427,420| 5,089,404| 338,016
1AM St R 2 E5 Y 5,427,420| 5,089,404| 338,016
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S g A hH] ¢ 132,014,0009 = 1%L = 132,014,000
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1AM Q1o A 4=5] 1,000 650 350
1A= 1,000 650 350
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2. AA 4 61,112 41,236 19,876
1. 35 R B ehae] 17,812 23,775|  -5,963
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3.71EF=] 25,000 16,000 9,000
lLAd=oldw 25,000 16,000 9,000
1.eAAI Y= 25,000 16,000 9,000
1.eAAY o= 25,000 16,000 9,000
1.eMAIY o = 25,000 16,000 9,000 o] ¥+ : 25,000,000 = 25,000,000
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